
1537 

Code No. 1537 

CLASS : 11th (Eleventh) Series : 11-April/2021 

Roll No. � � � � � � � � � � 

IT & ITES 

National Skills Qualification Framework (NSQF) 

Level - 3 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/School Candidates) 

le; : 2
2
1  ?k.Vs ] [ iw.kk±d : 60 

Time allowed : 2
2
1  hours ]   [ Maximum Marks : 60 

•••• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 38 gSaA  
 Please make sure that the printed pages in this question paper are 8 in number and 

it contains 38 questions. 
•••• iz'u-i= esa lcls Åij fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
 The Code No. on the top of the question paper should be written by the candidate 

on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ lEcU/k esa dksbZ lEcU/k esa dksbZ lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAHkh nkok Lohdkj ugha fd;k tk;sxkAHkh nkok Lohdkj ugha fd;k tk;sxkAHkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after 
examination. 
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uksV uksV uksV uksV %%%% 

    (i) iz'u Øekad 1 ls 3 esa ls dksbZ nks iz'u djsaA 'ks"k lHkh iz'u vfuok;Zvfuok;Zvfuok;Zvfuok;Z gSaA    

 (ii) izR;sd iz'u ds vad muds lkeus fn, x, gSaA 

Note :  

    (i) Attempt any two questions from Question Number 1 to 3. Rest are 

compulsory.  

 (ii) Marks are indicated against each question.  

1. fofHkUu lSds.Mjh LVksjst+ fMokbl dk o.kZUk djsaA   5 

Explain various secondary storage devices. 

2. vkWijsfVax flLVe ds dk;ksZa dk o.kZu djsaA 5 

Explain tasks of operating system.  

3. 'kkjhfjd ck;kseSfVªd MkVk ij uksV fy[ksaA   5 

Write note on physiological biometric data. 

4. ,aMªk;M vkWijsfVax flLVe ij uksV fy[ksaA   3 

Write note on Android operating system. 

5. ekyos;j ij uksV fy[ksaA   3 

Write note on malware.  

6. ck;kseSfVªd izfØ;k ds eSfpax pj.k dk o.kZUk djsaA   3 

Explain matching step of biometric process. 

7. fQaxjfizaV LdSuj ij uksV fy[ksaA   3 

Write note on fingerprint scanners.    
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8. bZ&esy ij uksV fy[ksaA   3 

Write note on E-mail. 

9. SMTP D;k gS \   2 

What is SMTP ?  

10. fQaxjfizaV ysrs le; D;k fnDdrsa vkrh gSa \   2 

What problems occur while capturing fingerprints ? 

11. ck;kseSfVªd MkVk dh ck/kk,sa D;k gSa \   2 

What are the limitations of biometric data ?  

12. jkbVj ds ykHk D;k gSa \   2 

What are the advantages of writer ?  

13. fu'p;kRed lapkj.k ds  ykHk D;k gSa \    2 

What are the advantages of assertive communication ?  

 
[ Objective Type Questions ] 

 

14. ALU dk iw.kZ :i …………………………. gSA   1 

Full form of ALU is …………………………. . 

15. OCR dk iw.kZ :i ………………………… gSA   1 

Full form of OCR is ……………………………… .  

16. RAM dk iw.kZ :i ………………… gSA   1 

Full form of RAM is ……………    

17. ………….. MkVk T;knk tula[;k dks n'kkZrk gSA   1 

……………………. data represents large population.  
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18. GST dk iw.kZ :i ………………….. gSA   1 

Full form of GST is ……………………….. . 

19. PSD Qkby ……………….. }kjk cukbZ tkrh gSA    1 

PSD file is created by ………………. . 

20. LAN dk iw.kZ :i ……………………… gSA   1 

Full form of LAN is …………………… . 

21. TCP dk iw.kZ :i ………………………… gSA   1 

Full form of TCP is ……………………… . 

22. ck;kseSfVªd izfØ;k dk izFke pj.k …………………….. gSA  1 

The first step of biometric process is ………………… . 

23. EER dk iw.kZ :i…………………….. gSA   1 

Full form of EER  is ………………. .     

24. vkWijsfVax flLVe ds izeq[k fgLls djuy vkSj …………………….. gSaA.   1 

The main parts of operating system are kernel and ………………. 

25. vukf/kÑr bZ&esy dks…………………….. dgrs gSaA   1 

Unauthorized E-mail is called ………………… .  

26. GUI dk iw.kZ :i …………………….. gSA   1 

Full form of GUI is ………………….. . 
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27. MkD;wwesaV ds ,d fgLls dks dkVus dh 'kkVZdV ^dh* ………………………. gSA 1 

Shortcut 'key' to cut a part of document is ……………………… . 

28. jkbVj esa fizaV vkWI'ku……………………. eSU;w esa gksrk gSA  1 

In writer, print option is present in …………………………… menu. 

29. ………………. ,d vkWiu lkslZ vkiWjsfVax flLVe gSA  1 

(a) fo.Mks  (b) eSd 

(c) ykbusDl (d) ,aMªk;M 

......................... is an open source operating system.  

(a) Windows  (b) Mac 

(c) Linux (d) Android 

30. IP ,Mªsl 5.2.2.2 ……………… Dykl esa gksrk gSA   1 

(a) A  (b) B 

(c) C  (d) D 

IP address 5.2.2.2 belongs to …………… class.  

(a) A  (b) B 

(c) C  (d) D  

31. jhfiVj ,d …………… iksVZ fMokbl gSA   1 

(a) 1  (b) 2 

(c) 3  (d) 4 

Repeater is a …………… port device.     

(a) 1  (b) 2 

(c) 3  (d) 4 
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32. …………….. ,d best+ Qkby ,DlVsa'ku ugha gSA   1 

(a) .jpg  (b) .png  

(c) .Gif  (d) .mp3 

………………. is not an image file extension.    

(a) .jpg  (b) .png  

(c) .Gif  (d) .mp3 

33. ……………. ,d vkmViqV fMokbl gSA   1 

(a) tkW;fLVd (b) ekml 

(c) ekWfuVj (d) LdSuj 

…………….. is an output device.     

(a) Joystick  (b) Mouse 

(c) Monitor (d) Scanner  

34. ifCyd Lihp …………….. lapkj.k dk mnkgj.k gSA   1 

(a) ocZy   (b) ukWu& ocZy  

(c) fotqvy (d) dksbZ ugha 

Public speech is an example of ………………… communication.  

(a) Verbal  (b) Non Verbal 

(c) Visual  (d) None 
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35. VSªfQd flacy …………….. lapkj.k dk mnkgj.k gSA   1 

(a) fotqvy  (b) ocZy 

(c) ukWu ocZy (d) dksbZ ugha 

Traffic symbol is an example of …………………….. communication.   

(a) Visual  (b) Verbal  

(c) Non Verbal (d) None 

36. …………… rjhds dk mi;ksx lsaMj ls lwpuk ikus ds fy, gksrk gSA 1 

(a) cksyuk  (b) crkuk 

(c) fy[kuk (d) lquuk 

………….. method is used to receive information from sender.   

(a) Speaking  (b) Telling  

(c) Writing (d) Listening 

37. LiSy pSd …………………. ^dh* dks nckus ls 'kq: gksrk gSA 1 

(a) F1  (b) F5 

(c) F7  (d) F9 

Spell check can be done by pressing ……… key.   

(a) F1  (b) F5 

(c) F7  (d) F9 
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38. jkmVj eq[;r% ……………… ys;j fMokbl gSA  

Router is mainly a …………………. layer device. 

S 


